Accuu- - -

iy .
e following info

Trade Receivables (Sundry Deth

prepaid EXpENses
Cash and Cash Equnvalents
ghort-term Investments

Machinery

Golution:
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[Hlustration 3. ”
Calculate Current Ratio from merf_éllowmgf -

Particulars

Total Assets
Fixed Assets (Tangible)
Shareholders’ Funds

Solution:

Current Ratio =

Calculation o

It should be noted that with t
Current Liabilities can also be cals

Working Capital is the excess of

Illustration 4.

Current Ratio is 2.5; Working Capital is ¥
and Current Liabilities.

Solution:

: Current Assets
Current Ratio =

Current Liabilities 3
Current Assets = 2.5 x Current Liabilities

Working Capital = ¥ 60,000 (Given)

Let Current Liabilities be x; Current Assets = 2.5x

Working Capital = Current Assets — Current Liabilities

2.5x — x =% 60,000 '

x =% 60,000/1.5 = X 40,000 [Current Liabilities].

Current Assets = T 40,000 x 2.5 = ¥ 1,00,000.

225
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A(counting Ratios ‘ | 4.9

Illushahon o

Working Capital is X 7,20,000; Trade Payables X 40, 000; Other Curre
calculate Current Ratio.

nt Liabilities X 2,00,000;

50111{10“‘
Current Assets ¥ 9,60,000 _ 4:1

Current Liabilities ¥ 2,40,000
Current Liabilities = Trade Payables + Other"Current Liabilities
X 40,000 + X 2,00,000 =X 2,40,000.
Working Capital = Current Assets — Current L1ab111tles

Current Assets = Working Cap1tal +
% 7,20,000 + T 2,2

Current Ratio

Il

[llustration 6. ;
Calculate Current Ratio from the followm‘
Working Capital ¥ 1,50,000; Total L1ab111 ’
Long-term Debts ¥ 2,50,000. ‘

Solution:

Current Ratio

Current Liabilities

Working Capital =
Current Assets

Illustration 7.

Current Assets are <
calculate Current Ratio.

Solution: Curr |

Note: Inventories are alreac
Illustration 8.

Current Assets ai
Working Capit

Solution:
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Ulustratmn g,
‘\ Company had Current Assets of X 3,00, 000 and Curren

Current Assets
Current Liabilities

Working Note: As, Current Liabilities are ¥ 1,00,000 and Current R

Current Assets =% 1,00,000 x 2.5 =X 2,50,000.
After payment of T 25,000 to a creditor, Cash or Bank (le
Liabilities) both will reduce by ¥ 25,000 each. Thus, '

Current Assets = T 2,50,000 - T 25,000 = T 2,25,000; Curi
Illustrahon 87 be

Solution: Current Ratio =

Solution: Current Ratio =

Ly
1
Let the amount paid of Current Liabilities be x
After the payment of Current Liabilities, Cash or B
Liabilities both will reduce by x. Thus,
2o % 6,00,00
1 T4,00000-x
T 8,00,000 — 2x =X 6,00,000 — x
¥ 8,00,000 — ¥ 6,00,000 = 2x — x
%2,00,000 =x
Thus, Current Liabilities that should be paid = X 2,00,000.
Illustration 12.
Ratio of Current Assets (X 10,00,000) to Current L1ab111t1es (X 4,00,000) is 2.5 : 1. Th
of the firm is interested in maintaining a Current Ratio of 2 : 1, by acquiring some
on credit. You are required to suggest him the amount of current assets that shoul
Solution: ! ;
Let the amount of Current Assets acquired on credit be x

After the achISltlon of Current Assets on credit, Current Assets and Current‘LI
both will increase by x. Thus,

e |
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; Accounting Ratios 411 '

Current Ratip = Current Assets 710,00,000+x _ »

Current Liabilities Wk 4,00,000 + x
¥ 8,00,000 + 2x = % 10,00,000 + x

2X = x =% 10,00,000 - ¥ 8,00,000

x =% 2,00,000
Thus, Current Assets that should be acquired on Credit = ¥ 2,00,000.
llustration 13. |

A firm had Current Assets of ¥ 3,00,000. Tt paid Current Liabilities of ¥ 60,000. After the

ayment, Current Ratio was 2 : 1. Determine Current Liabilities and Working Capital after
and before the payment was made,

Solution: Let the Current Liabilities after péym‘ent"of % 60,000 be x, which reduces cash
or bank (i.e,, Current Assets) by same amount. Thus, “ /

Current Ratio = } ,C“"e’_‘f Aéséts ey ,
Current Liabilities (CL)
2 _ %3,00,000-% 60,000
il 7 ‘

T 2x =X 2,40,000 i

Current Liabilities after payment = ¥ 2,40,000/2 = % 1,20,000

Current Liabilities before payme 000 + Z 60.000

j Working Capital after paymen =% 2,40,000 (CA) - % 1,
Working Capital before payme Curre ssets — C iabilities before payment

Current Ratio of L | reasons, hlch of the following would
improve, redu ‘ i B

of Current Assets (CA) and Current
effect of the transaction on the ratio.
% 20,000 and CL = ¥ 10,000.

L ————eerse ] SNSRI Tnol
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(1) Repayment of current liabili /
will be less than twice the fall m currer
(Suppose ¥ 5,000 are paid for current ]
CL = ¥ 5,000. Therefore, Current Rat

(i) Purchase of goods on cash will not cﬁ‘ 54
assets nor the total current liabilities a :

one current asset (Cash) into anothe c%e e

(iit) Sale of office equipment will 1mprove 1e Cu

will increase without any change in

(iv) Both the Total Current Assets and _viotal

amount. Therefore, the Current Rati

(v) Sale of goods for X 11,000; cost being

current asset (Cash or Trade Re

(0i) Payment of dividend will reduce the tc
by the same amount. Therefore, ‘

[lustration 15. :
Current Ratio of a company is 2 : 1‘

(iii) Purchase of Loose Tools agams
(iv) Sale of fixed asset against chequ
(v) Receipt of cheque from a debtor.

Solution:
(i) Redemption of Debentures will i
or Bank) and Current Liabilities
same amount. T
Note: According to Schedule Ill of the Con

12 months from the date of Ba
as Current Liability. ki

(11i) Purchase of Loose Tools against cash w111 redu '
declines while Loose Tools are not included in current a

(tv) Sale of fixed asset against cheque will improve the Current
(Bank) increases while in current liabilities there is no chan

(v) Cheque received from a debtor will not change the Current Ratio
asset (Debtor) is replaced by another current asset (Bank).

Illustration 16.

The Current Ratio of a company is 2.1 : 1.2. State with reasons, which of
transactions will increase, decrease or not change the ratio:
(1) Redeemed 9% Debentures of ¥ 1,00,000 at a premium of 10%.
(ii) Received from debtors ¥ 17,000.
(iif) Issued ¥ 2,00,000 Equity Shares to the vendors of Machinery.
(iv) Accepted bills of exchange drawn by the credltors ? 7,000.
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gstration 23 | 7
ntories are X 80,000; Workin i
d/Qulck Ratio. & ap;?:gl.g

il

I s R .4,00,000; caleulate

quuld/Ql.Ile Ratio = qumd/Qulck
Curren L_ Rl
Working Capital = YN e o
e 5 t Li1abpl)

Current Liabilities =

Liquid/Quick Assets = ¢

[llustration 24. G
Calculate Liquid’ Ra‘ﬁb"':‘~ |
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[llustration 25. o "0'0 TR
Current liabilities of a company are i« 3,09‘ 0L
Calculate value of [nventories. '

Solution:
Current Liabilities =

2300000

Liquid Ratio =

Liquid Assets = $ 3,00,00Q
Current Assets = Current gp
=3 x ¥ 3,00,

[llustration 26. o ki
Current Ratio of A Ltd. is 4.5 : 1 and Liquid
find out its Current Liabilities; Current A

Solution: Let Current Liabilities be
Current Ratio is 4.5 : 1; .. Current A
Liquid Ratio is 3 : 1; .. Liquid Asset

Liquid Assets = Current Asset

or 3x = 4.5x - X 3,
1.5x = ¥ 3,00,000
. T3.00,000

Illustration 27. o

Quick Ratio 1.5; Current Assets ¥ 1,00,000; Current L1
Inventories (Stock). :

Solution: -
e Quick Assets _ Quick Assets
Current Liabilities % 40,000
Quick Assets =% 40,000 x 1.5 = ¥ 60,000.
Calculation of Inventories (Stock):
Inventories = Current Assets — Quick Assets
=% 1,00,000 - % 60,000 = ¥ 40,000.

Illustration 28.

A firm has Current Ratio of 4 : 1 and

% 22,500, find out total Current Assets T Ratoiins g, Assuming In

and tota] Current Liabilities,
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0

on: Calculation of Current Assets and Current Lzabzlttzes. =
arrent Liabilities (CL) be x Aol i |

Let ¢ Ratio is 4 : 1, hence Current Assets = Ayt Gy
Curref‘Rano is 2.5 : 1, hence Liquid Assets or Quick _ Ass ets - 2 5 x
Qut kk Assets + Inventories = Current Assets Ko
O 2.5x + X 22,500 = 4x ‘

of 1.5x = ¥ 22,500

% % 22,500
Bt

Current Liabilities = X 15,000;

oluti®

RTINS

= % 15
ThUSI

[lustration 29
Jorking Capital of a company is X 6,00,000
v OCurrent Liabilities, (i) Current Assets, an
glsummg Inventories of X 4,00,000.

golution: Current Ratio = 2 5
Let Current Liabilities = x
i, Current Assets = 2.5x
Working Capital =

% 6,00,000 = 2. %
% 6,00,000 = ‘
Therefore, :

(i) Current Liabilities (x) =
(i) Current Assets
(i)  Liquid Ratio/Acid Test Ratio =

Quick Assets =

[llustration 30.

Current Assets of a company are T 17
Calculate Current Liabilities, L1qu1d Asse

Solution: ; g
Current A
Current Liabilif
X 17,00,000
225
Liquid Assets quuldvAs'é’é
Current Liabilities ¥ 6, 80 00.
Liquid Assets =¥ 6,80,000 x 0.95 = X 6,46 000

Inventory = Current Assets — L1qu1d Assets ;
=3 17,00,000 - X 6,46,000 = X 10,54,000.

Current Ratio =

Current Liabilities

-=X 6,80,000.

; Liquid Ratio =

Il
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